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Assignmert 1

Al -1 Benamin Disreel, 1st Eal of Beacondield, 1804-1881, who was Bitish Prime Minister in 1867 and from 1874 to
1880 is quated & saying: Thereare three knds of les: lies, carm lies, and gatistics. Explain, in 80 words or wer;

why Disrael might haveinduded Sstdistics' in this datement

Al-2. The Britishauttor and hstaian H.G. Wells, B66 1946, wiote ealy in this enury. Stdistial thinkirg will one day
be & reesary for efftiert dtizenship as he alility to readand wite Explan, in a btal of 100 words or £wer.

@ wha you mnsder Wells meant by lis gatement;
(b whether you mnsder his predction b havecometrue in @nemprary Canadan $dety.

Al-3. (@ Refering to Fgure 28a h the Gurse Materals, tabuate, & in Tade 28a, he esuts of your pge thickness

invesigatirg, preferably usingthe murse Bxtas he mper ource
(If you b not usethe Text, give a roper dtation of he odk you Lse)
(b Briefly descibe he &idencethat your measting process tasvariation.

() Namean important souce of varation in your measting process ad lriefly jusify your chdce.

(d) Briefly descibe he &idencethat your measting process s inaccurate.

() Nametwo important soucesof inacairacy in your measting process ad kriefly jusffy yourtwo chaces

Al-4. Rekriing to Agure 22 overkaf Figure 211 and Fgure 219in the Gurse Mateials:
@ In the oniextof datg wha is theessatial differencebaween inaccuracyandimprecsiat?
(b Wha are the tree diferent easnswhy dataare inacaurae?

(©) What @an ke doneto limit the dgree d inacauracy that an aise h each of thesethreeways? Explain briefly.

d) Wha are the two diferent easnswhy thee is \aration in cat®

(€) What @n ke doneto limit the anourt of varation tha arises in each of thesetwo way® Explan briefly.

Al-5. Tex Exercise 16 (page 21): Popuar magazines dten rank dties in erms & how destable.....
Al-6. Tex Exerise 17 (page 2): Congresswarts the medcal estabishment o show that progress.....

Al-7. Fory rats,randomy dividedinto two groups of 20, ae wsedin a pychdogicallearning
experiment First, dl the ratsare imed as hey run a naze. Next one goup d ratsis
trained to run the naze ad then all theatsare ajaintimedas hey run t. Finally, the
diffeence bewean the two un times(first—seond is alcuated for ech rat; the resits
(in seondk) for the o goups of ratsare shown in the Bldesat the iight.

@ Congrua sepaate gemplotsof the déa for tre wo groups of rats; useregective
sdsdstems d 3,3, 4,4,5 58d-2,-1,-0,0, 12

(b If the me¢hod wsedto train the itsis dfedive, which graup $auld have the hrger
avaage dfferencein run tme®

(© What is a&tudly ocaurring when he dfferencebeween the two un times ér a rais
negatve?

........ TRAINED........

40 32 41 49
4.2 37 43 42
44 36 35 49
51 45 47 &0
56 46 52 55

-21 -2.2-11 -2.5
-12 2.0-2.4-06
13 -13 -0.2 =27
14 09 22 21
18 21 11 26

(d) Explan briefly whether you mnsder that the d#a indicae tre method d training the atsrealy was &edive.

Al-8. (@ ExtExercise 115(page 26-27): The histagrams n Figure 110display the dstributions.....
(b TextExercise 116 (page27): The rumter o letters in a vord is a neasire .....

A1-9. A histayramof monhly wages for part-ime em- 0D
ployees in a particular industry is shown & the ¢ o015
right; no employee arred nore than $,000 pe & 010
month. The kar over the inteval ‘$300-$500's t
missng. Calcdate the héght of the mgsng bar g 005
andredraw the @mmplete histggram show your ro,
calcdationsclealy. $
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Al-1. The talle & the iight shows cataon the tme (in hours) d jury ddiberaions
in fifty criminal cases invdving a psdble deah penaty.
@ Congrud a histggramfor thesedaa wsingsix classes.
(b On the kmss of your histggram, exdain briefly whether it would be
unusid for a pry to ddiberae for nore than ®.5haurs in such a tial.

Al-11. Text Exercise 123 (page J): The Degee 6 Readng Power (DRP) test
is dten wsedto neasire.....

Al-12. (@ A qudity engineerin an automohile engine gantmeastesa aitical di-
mersian on @ad o a sanple of aankshafs & reguar intevals in the
produdion pocess The dmersin is sipposa to be 24 mm, but
somevariation will arse due b the godudion pocess The htest

coded11. Gve the mded \alue br each of the meauements i the sarple.

(b A qudity engineerin an auto plantmeastesthe eccenticity of a valve &-
sambly (eccentricity is a measte d how far off centie o supposelly con-
centric drcles are). The data(in inchey are slown at the iight. Explan
how you would code thesedaa for easer calcuation — gpod codhg resuts in
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Assignmernt 2 (cortinued)

A2 -11. (@) Find the valesof ; ando:

(Cat) (b Wha proporion of the hotiles filed ty the machinecontai more than B0 rri?

15.5
513
580
421

292

612
46.4
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62.5 66.3
07 687
537 69.2
2.3 631

379 11

40 62.8
6P 603

224120 224.0a
223989 2236l
223987 2237
224098 224057

meastements & gven ebove d the ight. The engineercocesthese measements to rake them easer to wak
with; the @ded \alue is he nunber d thousanths of a nillimere ébove 23 nm — for exanple, 224120 is

636 648 432
508 327 579
231 4.3 52.8
B6 47 256

3.2 42.3 395
314 554 385
74 40.2 653
%.2 56.9 262

540 621

24.a7
223960
223902

22313

0001084 QOQL 131
0.000 639 0.001 216
0.000 977 0.001 088
0.00L 069 Q000 667

positive whde rumbers Then gyve the awded \alue br each of the ecenticities isted.

A2 —12. Thecoefficiert of variation (CV) is defined @& sown & the light, wheee s is he sandad devi-
ation andy is the aerge The G/ provides a \ay d comparing the vaiation in dfferent déa
sds in stuaions wheee it is inconvenent @ inappopriate to base he ompaism on he
standad ceviationsor the intequatile rarges. An exanple of such a studion would be a omparisan of weekly
milk consumption per family between Canadaand the U5, whee the egective aveagesand sandad deviations
might be gven as 12 and 4 ltres br Canadaand 35 and 12 U.S gallonsfor the US.

@ An experiment 5 mndwctedto invesigake the dfed of a rew cbg bod m the weight gain in puppesduiing the
first eght weeks d life; i finds tha the aergye weight gain in a goup d Gred Danepuppesis 13.5kg with a
standad deviation of 45 kg; the @rreponding figuresfor a goup d Chihuahuguppesare 135 and Q70kg.

(i) Calcuate the O/ for each group d puppes

(ii) Explan briefly why a dred comparisan of the sandad deviationsis inappopriatehee.
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Cv=

23982
224089
22380
23.999

Q000 887
Q000 903
Q000 940
0.000 86
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